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1. Which of the following decision-makers use accounting information to make
business decisions?
Tﬂﬁﬁﬁﬂﬁ%ﬁﬁ§%?g??ﬂ%ﬁﬁmiﬁﬁ?

A) investors 7

B) creditors % & *

C) stockholders % &

D) all of the above ™+ % &_

2. Which of the following amounts appears on both the income statement and
statement of retained earnings?
THRBEEERRENR A E ARG EALY?

A) ending retained earnings # % % ¥ @ 4

B) total revenues iz »

C) netincome % 1|

D) dividends paid 4|2 i #k

3. Abusiness completes services for RM15,000 on account, but the client has not yet
made payment. Which of the following occurs?
- Bo @ s & RM15000 copRis > & F 2w AL HEE o TR H ¢
w40

A) Cash is debited for RM15,000. & 2z £ 15,000

B) Accounts receivable is debited for RM15,000. & & /& 4tk 2c 15,000

C) Service revenue is credited for RM15,000. § 3z fR4%4z » 15,000

D) BothBandC. B# C % ¢ % 2
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4. The following transactions have been journalized and posted to the proper
accounts.
TR EEI e ST P e YRR g e S P o
(1) Eric Lee invested RM 7,000 cash in his new design services company in
exchange for share.
FAARLFTMRE RMT7,000 3| # RT3k 3PRIZ O 2 LN £
(2) The company paid the first month's rent with RM 700.
2P A HE- B s RMT00
(3) The company purchased equipment by paying RM 2,000 down payment
and issued a bill payable for RM RM500.
o L EE 3 RM 2,000 1 # 2 £ 4% RM 500 pE§ 3K
(4) The company purchased stationery for RM 850 cash.
S E RMB50 LT < £ % &
(5) The company billed a client for RM 4,000 of design services completed
aF e Z 2 B2 RM4,000 g3 pRIER
(6) The company received RM 3,000 of the account for the completed services.
27423 RM 3,000 = = =% pRF3 ek 20
What is the balance in Accounts Receivable? & ctk Zceiepip 2 5 22
A) RM 8,500
B) RM 1,000
C) RM 7,000
D) RM 4,000

5. Which of the following errors could be detected by examining a trial balance?
T 5| P fAAE T AR A R F?

A) Ajournal entry for a RM250 payment on account was posted as a RM520 debit to
accounts payable and a RM250 credit to cash.
- % £% RM250 f#cehp etk o &0t 32 5 s {3 RM520 frfizemk &
RM250

B) Ajournal entry for a RM250 payment on account was not posted.
- & RM250 PRt& i At e 452 5 TR

C) Ajournal entry for a RM75 payment for rent expense was posted twice.
- £ RM75 e & 7 % A 8cdfis & =X

D) A journal entry for a RM75 payment for rent expense was posted as a debit to
salary expense and a credit to cash.
-~ L RM7S e & 3 % A8 BHE P frie g
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6. Which of the following situations would result in an increase in income under the
accrual method of accounting but would NOT result in an increase in income
under the cash-basis method of accounting?
MTERGBHER G ERBFF A G RIFEF S E T A e 27 £
ERILEAAET T FT e r B4 ?
A) Purchased stationery pE§ < £ % &
B) Provided services on credit 14 patk e 35y {7 PR 5%
C) Used the stationery purchased earlier i * 5 pE§ ch> 2 #* 5.
D) Cash received for services performed earlier 4z |-t w0 3% B PR I% IR £

7. Which of the following is the adjusting entry to record unearned revenue that has
now been earned?
ORI B RRB AT T R A B gy T - T D

A) Increases an asset and increases an expense 7 A 3 v 14 2§ * 3 4o

B) Decreases an asset and increases an expense 3 A j > 11 2§ * 3 4o

C) Decreases a liability and increases a revenue § @ i > 14 2 T » 3 4¢

D) Decreases a liability and increases an expense f ff i > 12 2 % * 3 4¢

8. A business pays salaries of RM140,000 on the fifteenth and last day of every
month. Which of the following is the adjusting entry required on December 31,
20227
- R L& EE P 15 p ek i - p £ F RM140,000 sk o 12 = vR— 38 §_2022
#1207 3L pArg A AR

A) Debit RM140,000 to Salaries Receivable, credit RM140,000 to Salaries Payable
1R FF RMI140,000 0 | FF RM140,000

B) Debit RM140,000 to Salaries Expense, credit RM140,000 to Salaries Payable
| T FF 7 * RM140,000 > | : & #FF RM140,000

C) Debit RM140,000 to Salaries Expense, credit RM140,000 to Salaries Receivable
| EFTF* RMI140,000 - B EdcEFF RM140,000

D) No adjusting entry required # 7 @izt & & &%



023 &5 B+ APV E - g8 Ee
2" NCKU Business Studies Competition 2023 —
Accounting & Bookkeeping



2023 & % = B & ‘fé:}ﬂ”‘% — gﬁ*ﬁ'-ﬁ‘g&
2" NCKU Business Studies Competition 2023 —
Accounting & Bookkeeping
9. A company sells merchandise for RM1,000 on account with terms of 2/10 net/30.
Defective merchandise of RM200 is returned 2 days later. Which of the following
entries would be made to record the cash receipt for the sale if the payment is
received within 10 days?
- R P PR 2 V0 8 RML1,000 0 &0 1 AR AR S 2/10 net/300 5 % £ o
dw 3 % & RM200 7 LR o drdk 10 X TR H AT 0 T 2 IRIE A gk
MBI e B IR & T dR ?
A) The accounting entry would be an RM800 debit to Cash, a RM16 credit to Sales
Discounts and a RM784 credit to Accounts Receivable.
e aR-€ E DI £ RMB00- | 4 & 3740 RM16- B - itk 3k RM784 -
B) The accounting entry would be a RM16 debit to Sales Discounts, a RM800 debit
to Cash and a RM816 credit to Accounts Receivable.
€3 A grk-¢ i 4 8474 RM16- % (3 £ RMB800> | : Jis <tk 3 RM816 -
C) The accounting entry would be a RM784 debit to Cash, a RM16 debit to Sales
Discounts and an RM800 credit to Accounts Receivable.
€3 aR-€ E DI & RM7845 1 14 & 3740 RM16- B - &tk 32 RM800 °
D) The accounting entry would be an RM800 debit to Cash and an RM800 credit to
Accounts Receivable.
€3 ak-€ 1 0 £ RMB00 > B ¢ etk 2 RM800 -

10. At the beginning of the year, accounts receivable were RM45,000 and the
allowance for bad debts was RM4,200. During the year, sales (all on credit) were
RM180,000, cash collections were RM165,000, bad debts expense totaled
RM3,100, and RM2,600 of accounts receivable were written off as bad debts.
Accounts Receivable balance at the end of the year was:
£ 47 B JifchE 20 5 RM45,000 0 SRR 28 % & ¢ 5 RM4,200 ¢ iz E 8 7
8% (25M) 5 RM180,000 » 3R £ Jcik 5 RM165,000 » #tE 3 * 43+
5 RM3,100 > @ & fcte 4 ® 5 RM2,600 4% 7| 5 Hk Pk o & K PF > Ji Ttk 3otk =2
SHREE S 50 7

A) RM42,400.

B) RMS54,300.

C) RM57,400.

D) RM60,000.
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11. Kiwi Antique Shop has the following account balances at the end of the current
accounting period.
Kiwi Antique Shop Z§ ¢ € 3-8 % & PFj T etk = AR
Beginning inventory # 4~ & 7% RM73,250
Net purchases 7% $x Fi 57,650
Net sales revenue = 41 & 4z » 85,500
A normal gross profit for the company is RM45%. What is the company's
estimated cost of goods sold during this accounting period?
AP S JIF L A% e RN P AR PRI R P A AL S
b f)
A) RM92,425
B) RM47,025
C) RM38,475
D) RM83,875
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12. Apple Petroleum Products owns furniture that was purchased for RM19,600.

Accumulated depreciation is RM17,300. The furniture was sold for RM3,800.
Which of the following double entries is correct?
Apple Petroleum Products #%7 — #+p > i & 5 RM19,600 ch 2 - & f 47
£%f » RM17,300 © izt 7.5 12 RM3,800 i 42 & ) o T o i B 2edhig 4
EER N2 e EWAY > e

A) Accumulated depreciation % #% 47 & 17,300
Cash 71 £ 3,800
Gain on sale of furniture ®E 4 & ] & 1,500
Furniture %% 19,600
B) Accumulated depreciation * ## 7 & 17,300
Cash 7 £ 3,800
Furniture 3.2 31,100
C) Furniture %2 19,600
Gain on sale of furniture #.2 4 & 4] 3,800
Cash 7 £ 2,700
Accumulated depreciation % # 17 &, 17,300
D) Furniture .2 19,600
Cash 71 £ 2,700
Gain on sale of furniture & 4 & ] & 5,000
Accumulated depreciation ? # 37 ¥, 17,300
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The product cost of a single unit is determined by:
H- 4 g gahd 0T 38 hg

A) dividing total direct materials and direct labor for a production run by the number

B)

C)

of units produced.

#-d AEARY ORE BRI R A 1 S Al A el e

adding total direct materials, direct labor, and manufacturing overhead for a
production run and then dividing by the number of units produced.

#d AR PREREMEERA B FREY Y AP R % 4
A H ko

dividing total direct materials, direct labor, manufacturing overhead and delivery
expenses for a production run by the number of units produced.
%ié@ﬁﬂﬁﬁiﬁﬁ%‘EQAJ‘@%@ﬁ%?%@ﬁﬁﬁﬁﬂié
hH o

D) dividing the product's selling price by the its contribution margin ratio.

14.

WA R B BT

MaMa Company compiled the following financial information as at December 31,
2022:
MaMa Company # 1 2022 & 12 * 31 p %4]7 M T Mz F ¢

Revenues Jz » RM420,000
Retained earnings %% & 4 (1/1/22) 210,000
Equipment 3% # 240,000
Expenses 7 * 375,000
Cash 7 & 105,000
Dividends %41 30,000
Supplies * & 15,000
Accounts payable & 1 P& 2% 60,000
Accounts receivable & |z & 3¢ 45,000
Share capital-ordinary # & % 3% * 195,000

MaMa’s total assets on December 31, 2022 are
MaMa = & %2022 # 12 * 31 p chF A 5 % 7

A) RM825,000.

B)
C)
D)

RM630,000.
RM360,000.
RM405,000
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15. RuRu Company showed the following balances at the end of its first year:
RuRu Company &H % — & 2§ pF 5 12 T 4R%F ¢

Cash % £ RM 19,000
Prepaid insurance 3§ i} i%*& 1,400
Accounts receivable &4z Pk ¢ 7,000
Accounts payable & Pk 2% 5,600
Notes payable /& i & 45 8,400
Share capital-ordinary 4 i& "% & 4,800
Dividends # 41 1,400
Revenues 4z » 45,000
Expenses % * 35,000

What is the total credits on RuRu company’s trial balance?
RURU = @@ B &9 B R AL 52

A) RM65,200

B) RM63,800

C) RM62,400

D) RM66,600

16. Which of the following statements regarding simple and compound entries is
correct?
Y2 URIE BET I H 2 oAl & A B LD AR ?

A) Simple entries can be prepared by anyone whereas compound entries need to be
prepared by a skilled accountant.
HEAEF I Z ARG adF s AEF &Y RUDg I ERR -

B) Simple entries are recorded on the income statement whereas compound entries
are recorded on the statement of financial position.
BH Sl 42 A g ARt b o

C) Simple entries involve one account, whereas compound entries involved 2 or more
accounts.
BH Sz - BRY > MAF L K2 S B SRS o

D) An example of a compound entry would be the purchase of a machine for RM400
cash and a RM2,000 note payable.
A& A )3 T i AR £ RMA00 ek ¢ 2 45 RM2,000 PR - 548 % o

10
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17. A new accountant working for CoCo Company records RM800 Depreciation
Expense on store equipment as follows:
CoCo = & efi- =R7 € 3HFF -7 m 3% & ¢ RM800 477 * jedrde™
Depreciation Expense 7 & 7 * 800
Cash . & 800
The effect of this entry is to
T ek B
A) adjust the accounts to their proper amounts on December 31.
ARG T H A12731p et FEEEE ©
B) understate total assets on the statement of financial position as at December 31.
M 127 31p pAaskin g e T A o
C) overstate the book value of the depreciable assets as at December 31.
BR1213p FIEFT ARG § B -
D) understate the book value of the depreciable assets as at December 31.
ME127 3Lp FATE T A RS E o

18. An error has occurred in the closing entry process if
FBRSEARRE Y B4 TR B & AR

A) revenue and expense accounts have zero balances.
Jer o *HE S REE A R o

B) the retained earnings account is credited for the amount of net income.
B FARIE S TR £FEA A A B o

C) the dividends account is closed to the retained earnings account.
AR S AL D T P ARE & o

D) the statement of financial position accounts have zero balances.
TAERANES RIS F o

11
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19. The income statement for the year 2022 of PaPa Co. has the following
information:
PaPaCo. 12022 # R4 5F % & g N T Fa ¢

Revenues 4z » RM150,000
Expenses 7 * :
Salaries and Wages Expense # % 7 * RM90,000

Rent Expense #2. & 7 * 32,000
Advertising Expense A& £ 7 * 12,000
Supplies Expense * &% * 12,000
Utilities Expense -k & 7 * 5,000
Insurance Expense " 3 * 4,000
Total expenses § * 43+ 155,000
Net income (loss) %41 (245 ) RM (5,000)

After all closing entries have been posted, the revenue account will have a balance of
BT SR A AT E e r {8 T r KR S AR RS 0

A) RMO.

B) RM150,000 credit. g 4RM150,000

C) RM150,000 debit. & 4RM150,000

D) RM5,000 credit. E 4RM5,000

20. The step in the accounting cycle that is performed on a periodic basis (i.e.,
monthly, quarterly) is
REFEDY EXHREFAHI (e &7 ~FF) E

A) analyzing transactions. 4 7% % -

B) journalizing and posting adjusting entries. z45friEtk 34 B & &% o

C) preparing a post-closing trial balance. # & #8558 4 o

D) posting to ledger accounts. &tk 31| 4 SgtktE = o

12
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21. GaGa Inc. took a physical inventory at December 31, 2022 and determined that
RM395,000 of goods were on hand. In addition, the following items were not
included in the physical count: (1) RM60,000 of goods purchased were in transit,
shipped f.0.b. destination (goods were received by GaGa three days on January 3,
2023) and (2) the company shipped f.0.b. destination RM25,000 worth of
inventory on December 29. The goods arrived at the buyer’s place of business on
January 2, 2023. What amount should GaGa report as inventory at the end of
20227
GaGa Inc.»+ 2022 # 12 7 31 p & {77 S B fr T 5 7 & & 5 RM395,000 -
ek T R R o f AR e (1) @ RM60,000 e &g 0 BB
FRLZP Al (F&32023 & 107 3p == p3iE GaGalne.); (2) =
7127 29 piFiE 7 W & RM25,000 shE 5 F r‘%@@?]" R PR e
TR R 2023 & 10 2 p4siE B 2 ey EHAr o 424502+ R > GaGa Inc.
Ri%dF 2 2022 & RenE s £ 5 50 ?

A) RM395,000.

B) RM455,000.

C) RM420,000.

D) RM480,000.

22. A company just starting business made the following four inventory purchases in
June:
- FEIB A EN P A6 0 T N T e R R
June 1 150 units == RM 2,600

June 10 200 units ¥ = 3,900
June 15 200 units ¥ = 4,200
June 28 150 units ¥ = 3,300

RM14,000

A physical count of merchandise inventory on June 30 reveals that there are 100
units on hand. Using the FIFO inventory method, what is the cost of goods sold
for June?
267 30pEFNFHERE LT E Y 3 100 E o * gk II(FIFO)
o6 AR ANEEAS Y

A) RM2,200.

B) RM12,000.

C) RM11,800.

D) RM12,266.

et

13
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23. On May 1, 2022, ViVi Company established a petty cash fund by issuing a check
for RM750 to John Huang, the custodian of the petty cash fund. On May 31, 2020,
Huang submitted the following paid petty cash vouchers for replenishment of the
petty cash fund when there is RM30 cash in the fund:
#2022 # 57 1 p > ViVi Company i i+ John Huang % ' - 5% RM750 1
AR - BEY £4]K o JohnHuang £.% * & chifkg 4 o £ 2020 £ 5
"31p 5 ER*4£7:E7 RM30 P »Huang #8327 v T e L R * £

B U AEY &

Freight-In i& {38 # RM249
Supplies Expense * &% * 195
Entertainment of clients < % % * 186
Postage Expense 28 3 7 * 75

The journal entry to replenish the account would include a
wA R F AR © P oL ke 35
A) debit to Cash Over and Short for RM15. # : 3 £ ‘&% RM15
B) credit to Petty Cash for RM705. F : % * £ RM705
C) debit to Cash for RM705. #% : 34 RM705
D) credit to Cash for RM750. § : 3 & RM750

24. In preparing its bank reconciliation for the month of April 2022, LalLa, Inc. has the

following information.
e lE g 2022 & 4 7 s HMR E B & 4 pF oo Lala, Inc.d T R F

Balance as per bank statement, 4/30/22 RM74,580

2022 # 4 % 30 p 4L{7 §HR H ARTE

NSF check returned with 4/30/22 bank statement 900
27 4/30/22 4 ¥ttR H - i w s A RA9 L

Deposits in transit, 4/30/22 10,000
tig 73 35 0 4130122

Unpresented cheques, 4/30/22 10,400
AL E > 4/30/22

Bank service charges for April 40

2022 & 4 " A IRIEF
What should be the adjusted cash balance at April 30, 2022?
2022 # 4 " 0 P AR ERIERS 5070

A) RM75,040.

B) RM75,120.

C) RM73,280.

D) RM73,240.

14
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25. Which of the following statements about depreciation is correct?
rT R A B AT AL FE e ?
A) External auditors select the method believed to be most appropriate and consistent
with other companies in the same industry.
IMEEFER NI EPE I AR - FEHB 2P - Re? 2 o
B) The income statement is impacted by depreciation through the accumulated
depreciation account, and the statement of financial position is impacted by
depreciation expense.
FTESEARITER"HFZFZA 2D TP " HTALGAA 2R
o
C) Once a company chooses a depreciation method, it should apply the same method
consistently over the entire useful life of the asset.
LN PER - BITES O RATASEBRY ZEPFPN - R 0
EIR
D) All of these answer choices are correct.
ST AR E I R FE e e

15
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26. The interest charged on a RM400,000 note payable, at the rate of 8%, on a 90-day
note would be
- 3 & 3F 5 RMA400,000 e 4 £ 4% > & 8%l T 5> 90 % # 'Ll & £ 4F
ER RN
A) RM32,000.
B) RM17,776.
C) RM8,000.
D) RM2,666.

27. The entry to record the payment of an interest-bearing note at maturity after all
interest expense has been recognized is
B PIL R 18 BRI PR B8
A) Notes Payable & i & 3
Interest Payable f& it 1 &
Cash 1 £
B) Notes Payable i & %
Interest Expense 1.4 7 *
Cash 1 £
C) Notes Payable & & 45
Cash 1 £
D) Notes Payable i & %
Cash 1 £
Interest Payable & it 1 &,

28. An asset was purchased for RM750,000. It had an estimated residual value of
RM150,000 and an estimated useful life of 10 years. After 5 years of use, the
estimated residual value is revised to RM120,000 but the estimated useful life is
unchanged. Assuming adopt straight-line depreciation, depreciation expense in
year 6 would be
- 38 F A1 RMT750,000 p-F - H 328 @ 5 RM150,000 » sg3- i * #15
10 # o« @ % 7 5 &S G3ra® @3+ 2 RM120,000 » fe Fp3+ @ * #) 'L ix
HFAR o BRBTIRITEE > RO ENTEF Y S 502

A) RM90,000.

B) RM66,000.

C) RM45,000.

D) RM63,000.

16



2023 #F - BEFAFHFE - gialke
2" NCKU Business Studies Competition 2023 —
Accounting & Bookkeeping

29. Goodwill 75 %
A) represents valuable things related to a company such as its investments and plant

B)

C)

assets.

REREFRBPEF B ENES o AR TR ITA -

is reported in the statement of financial position under intangible assets.
EpfAR kA Y EE Z AT A o

is amortized using the straight-line method similar to other intangible assets.
B AR > FNH B BT A o

D) All of the answers above are correct.

30.

[P

Beauty and Sunny are forming a partnership. Beauty will invest a truck with a
book value of RM10,000 and a fair value of RM14,000. Sunny will invest a
building with a book value of RM30,000 and a fair value of RM42,000 with a
mortgage of RM15,000. What amount should be recorded in Beauty’s capital
account?

Beauty - Sunny i &= - B &4 £ ¥ - Beauty #4L F - dm+ 2 > HiEkg i
& % RM10,000 > = v % & = RM14,000 - Sunny ¥4 5 - ez 84 > Hik

% & % RM30,000 > = i & 2 RM42,000 > &% 5 — & RM15,000 % & &

[ # o Beauty ehE AR S il b b 43 ?

A) RM42,000
B) RM30,000
C) RM27,000
D) RM14,000

17



